Answers to Last AP Review
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(a) 18,000. The solution curve is increasing on 0 < P <18,000 because % >0.
(b) 18,000. The solution curve is increasing on 0 < P <18,000 because %p >0.

(c) 18,000. The solution curve is decreasing on P > 18,000 because % <0.
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(d) 9000. £=3£ - -1—P£=—l-d—P(9ﬂUU—P)=U when P = 9000.
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When 0 < P <9000, —E;i-:s{], When 9000 < P <18,000, ?{ 0. Therefore

the solution curve is concave up for 0 < P <9000 and concave down for
9000 < P <18,000 and has an inflection point when P = 9000.
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